2.040

HEMNEB—ST]

HENGYIPNEUMATIC CO., LTD. e

A FE S $8& Specifications

£142(mm)  Bore 1216 [20]25[32]40] 50] 63] 80 [100
MEE I Action model WEE Double action
T &4\ & Working Fluid =R Air
T s JIMP
TIE}.:T:jj d 0.1-0.9
Working Pressure range
it EMPa Proof pressure 1.35
TR ET Working temperature 0~60C
THEREMM /s
) 30 ~500 30~350 | 30~250
Working speed range
ZmA K Cushion type E ZE R Fixed cushion
1% 012 Port Size M5x0.8 | pri/8 [ PT1/4 | PT3/8
B S Symbol
SDAD SDADS
A iTHg%3 Order Code
SDAD-S-32x25-B
= AR IRLL
Blank:Female thread
AT i SR 4L B:SMRLYL
Rod end style —B:Male thread
N: T #5
N:No thread
712
Stroke
GARES
Bore
<o = B
ﬁ?\ﬁ;ﬁcwe S:With magnet
9 Blank without
magnet
SDAD: Sk X 5 £

SDA:Double

HIERIR [Actiontype
rod/double Action




SDAD
Series

A REBL# Internal Structure

HYC
HYCD
HYCJ
HYCT
HYC
8 9 10 VBB
QGA(B)
CA1
CS1
DNC
SDA
SDAJ
SDAT
SDAW
e SDA
cQs
cQ2
ADVU
MAL
MSAL
MALD
MALJ
MAL
MAMAC
MSA
MAD
MAJ
MAR
MA
cJ2

X
T

No. 3 Part name No. AR Part name CM2

il % ZE BRod packing

JEZEPiston DSNU

A% Rodcover B /e OB Cylinder gasket cu

511K Cylinder body 7L A M B Spring backstop TN

©|oo|~|o |l

54 # / Cushion rubble E E42$] Screw CXS

o[ |w|rn|=|dl

SHEFH B Piston seal

—=
o

SEZEAFPiston rod W

MGP
CcJP
CY1B(S)

4T&(mm) Bore 12 | 16 | 20 [ 25 | 32 40 | s0 [ 63 80 100 MH

EARYN Cylinder body EEe Aluminum alloy 7H

EES Piston HE® Aluminum alloy

SEEAT Piston Rod SHMGE R ELE) Steel(industrial chrome plated)

SHER B Piston seal NBR

fi%ZH A Rod packing NBR

342 B Cushion rubble NBR

&3M%& Bush Eh AR A 1 Oil impregnated bearing alloy

BIE Rod cover HBES Aluminum alloy

=5 Head cover maE Aluminum alloy

7. A3 14 B Spring backstop HE W Spring steel

# %k Magnet B Rubble

2.041



HEWVE E—SI) -

A 5MESR~HZE %) Overall Dimension(mm)

SDAD. SDADSZE! SDAD SDADS Series

$12~¢16 A+{7FEx2 A+Strokex2

S _|B1_C+f7# C+Stroke B1+17# |B1+Stroke
M P3 P3 | F1+f7#8  |F+Stroke

o = e €

e =R 2 E r— W
_Ux4s® @ 2 Thick —1 =H om i 2 Thick
—~ gt =
s -9 [= 1 < || S >
N GLE | 4 3]

o ok

-0.05

0

2-P1 Y s =
=
D
s R i WicH M
620~ 100 1N M _E# P4 R
I — ™ S
Ux45° Lm_%‘w [‘_44 o
I | [T
L = |
e RS |
14@) S : S s =
P < /
' v W W
i J IR omME |2 Thick

4-P1 KﬁﬁTEE 2 Thick 1 2-0 N1 F+?:J'ﬁ F+Stroke
K1 Depth E I
B1| C+f7# C+Stroke| B1+f7#2 | B1+Stroke

A+17#E  A+Stroke

K Type #rE#IStandard B B BIWith magnet b L E_ . s K . " N

W Bore A B1 C A B1 ¢ hﬁsWOStrokeswlﬁ%1051r0ke>10
12 27 5 17 37 5 27 . 6 4 1 M3x0.5| 10.2 3 6.5
16 29.5 | 5.5 18.5 | 39.5 55 | 285 - 6 4 1.5 | M3x0.5 11 3 7.2
20 30.5 5.5 19.5 | 40.5 55 | 295 36 [B(f772=5 #6.5)8(stroke=5is6.5) 4 1.5 | M4x0.7 16 3 7.2
25 33 6 21 43 6 31 42 [10(f7%=50 47)10(stroke=5is7)] 4 2 M5x0.8 17 3 8
32 38.5 7 24.5 | 48.5 7 34.5 50 8 12 4 3 M6x1 22 3 9
40 40 7 26 50 7 36 58.5 9 12 4 3 M8x1.25| 28 3 10
50 46 9 28 56 9 38 71.5 11 15 5 4 M10x1.5| 38 4 10
63 50 9 32 60 9 42 84.5 11 15 5 4 M10x1.5] 40 4 11.5
80 63 11 41 73 11 51 104 14 20 6 5 M14x1.5| 45 4 13
100 75 12 51 85 12 61 124 18 20 7 5 M18x1.5| 55 4 16

#112 Bore N3 O P1 P3 P4 R S T1 T2 u V | W[ X]Y
12 6 M5x0.8 | MisDouble side: ¢ 6.585M5& 7L Hole: ¢ 4.2 12 4.5 - 25 (16.2| 23 |1.6| 6 5| - |-
16 6.5 M5x0.8 | MihDouble side: ¢ 6.5 LM5&EFLHole: ¢ 4.2 12 4.5 - 29 (19.8| 28 |1.6| 6 5| - |-
20 - M5x0.8 | MiiDouble side: ¢ 6.585M5& 7L Hole: ¢ 4.2 14 | 45 2 34 | 24 - |21 8| 6 [11.310
25 - M5x0.8 | MihDouble side: ¢ 8.282LM6EFLHole: ¢ 4.6 15 5.5 2 40 28 - 31,10 8 |12 |10
32 - PT1/8 WinDouble side: ¢ 8.28B5M6EFLHole: ¢ 4.6 16 5.5 6 44 34 - |2.15/ 12 | 10|18.3 15
40 - PT1/8 WifiDouble side: ¢ 108ELM8iE HLHole: ¢ 6.5 20 7.5 6.5 52 40 - |2.25/ 16 | 14|21.316
50 - PT1/4 MifiDouble side: ¢ 1182 5M8iE L Hole: ¢ 6.5 25 8.5 9.5 62 48 - |4.15/ 20 | 17|30 | 20
63 - PT1/4 WifiDouble side: ¢ 118ELM8E L Hole: ¢ 6.5 25 8.5 9.5 75 60 - |3.15] 20 | 17 [28.7] 20
80 - PT3/8 WihDouble side: ¢ 1482LM125E F L Hole: ¢ 9.2 25 110.5 10 94 74 - |3.65) 25 | 22| 36| 26
100 - PT3/8 | MifiDouble side: ¢ 17.585M 148 FLHole: 6 11.3| 30 13 10 | 114 | 90 - |3.65| 32| 27| 35| 26

2.042




